M_NSYS Display

The following describes the current S-52 display for M_NSYS. This allows for a single non-overlapping M_NSYS where a direction of buoyage exists. However as in example 1 and 2 masking would be required for correct display. 

In the example diagrams the lines correspond to the highlighted symbol instruction of the same colour.

Example 3 and the LUT entries below it show how amending the priority could remove this issue in S-101 and support single non-overlapping M_NSYS.

It is proposed that this is passed to the S-101 portrayal sub group to consider. Consideeration might also be given to enhancing the MARSYS51 linestyle to be more clear.
Symb

"M_NSYS","","LC(MARSYS51)","4","S","STANDARD","27040"

"M_NSYS","MARSYS1ORIENT","SY(DIRBOYA1,ORIENT);LC(NAVARE51)","4","S","STANDARD","27040"

"M_NSYS","MARSYS2ORIENT","SY(DIRBOYB1,ORIENT);LC(NAVARE51)","4","S","STANDARD","27040"

"M_NSYS","ORIENT","SY(DIRBOY01,ORIENT);LC(NAVARE51)","4","S","STANDARD","27040"

Plain

"M_NSYS","","LC(MARSYS51)","4","S","STANDARD","27040"

"M_NSYS","MARSYS1ORIENT","SY(DIRBOYA1,ORIENT);LS(DASH,1,CHGRD)","4","S","STANDARD","27040"

"M_NSYS","MARSYS2ORIENT","SY(DIRBOYB1,ORIENT);LS(DASH,1,CHGRD)","4","S","STANDARD","27040"

"M_NSYS","ORIENT","SY(DIRBOY01,ORIENT);LS(DASH,1,CHGRD)","4","S","STANDARD","27040"
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Proposed S-101 Display Rules

Symb

"M_NSYS","","LC(MARSYS51)","4","S","STANDARD","27040"

"M_NSYS","MARSYS1ORIENT","SY(DIRBOYA1,ORIENT);LC(NAVARE51)","5","S","STANDARD","27040"

"M_NSYS","MARSYS2ORIENT","SY(DIRBOYB1,ORIENT);LC(NAVARE51)","5","S","STANDARD","27040"

"M_NSYS","ORIENT","SY(DIRBOY01,ORIENT);LC(NAVARE51)","5","S","STANDARD","27040"

Plain

"M_NSYS","","LC(MARSYS51)","4","S","STANDARD","27040"

"M_NSYS","MARSYS1ORIENT","SY(DIRBOYA1,ORIENT);LS(DASH,1,CHGRD)","5","S","STANDARD","27040"

"M_NSYS","MARSYS2ORIENT","SY(DIRBOYB1,ORIENT);LS(DASH,1,CHGRD)","5","S","STANDARD","27040"

"M_NSYS","ORIENT","SY(DIRBOY01,ORIENT);LS(DASH,1,CHGRD)","5","S","STANDARD","27040"




Example 3 – amended portrayal with single non-overlapping M_NSYS.


No masking.





Example 2 – current portrayal with single non-overlapping M_NSYS.


Masking of M_NSYS object with ORIENT value.





Example 1 – current portrayal with single non-overlapping M_NSYS.


No masking applied.








